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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Fhst 1.00 | 000 ~ 477 59.46 | TnLS | 000 ~ 4.77| 1.75 9.35 FhLst 1.00 | 5.00 ~ 5.00 59.46 | =nst | .00 ~ 500 1.756 935
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
ZFhst 1.00 | 000 ~ 524 65.37 | FnLS | 000 ~ 524 1.79 9.568 ZFhst 1.00 | 500 ~ 569 65.37 | FhLS | 500 ~ 569 1.79 9.68
3 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
ZFhst 1.00 | 000 ~ 623 7819 | Fns | 000 ~ 623| 1.83 9.82 Fhst 100|500 ~ 7.35 7819 | FhLS | 500 ~ 7.35)| 1.83 9.82
p 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 6.50 81.92 | #FhAst | 000 ~ 650 1.76 9.42 zhLst 1.00 | 6.00 ~ 7.72 81.92 | #hst | 5.00 ~ 7.72| 1.76 9.42
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBAD ~
Fhst ~ Zhst ~ Zhst ~ st ~
100kN/mM%EBZ 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBAD ~
Zhst ~ Zhst ~ Zhst ~ FhLs ~
100kN/ Mm% Z 5 ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ Zzhusn ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




